Input Table:

	Price_ID (PK)
	Product_ID
	Estimated_Price
	Actual_Price
	Size
	Prod_Desc_ID (FK)
	Store_ID (FK)

	10243
	111111111
	3.15
	0
	 
	2562
	1

	10244
	
	0
	2.99
	101G
	2562
	2

	10245
	
	0
	3.99
	102G
	2562
	3

	10246
	
	0
	4.99
	103G
	2562
	4

	34639
	222222222
	1.84
	0
	 
	2712
	1

	34640
	
	0
	5.99
	201G
	2712
	2

	34641
	
	0
	6.99
	202G
	2712
	3

	34642
	
	0
	7.99
	203G
	2712
	4



Output should look like:
	Product_ID
	Description*
	Estimated Price
	Actual Price
	Size
	Actual Price
	Size
	Actual Price
	Size

	111111111
	CAKES 
	3.15
	2.99
	101G
	3.99
	102G
	4.99
	103G

	222222222
	CRISPS
	1.84
	5.99
	201G
	6.99
	202G
	7.99
	203G



*The Description fields (CAKES and CRISPS) are held on another Table and joined through the Prod_DESC_ID field.


